—_
12 times table (A)

0x12= 3x12= 7x12=
1x12= Mx12=_ Mx12=_
2x12= 0x12=_ 3x12=
3x12= 7x12= 2x12=
Ux12= 0x12= 8x12=
5x12= 1x12= Ux12=
bx12= Uxi2= bx12=
7x12= bx12= 0x12=_
8x12= 12x12= 12x12=
9x12=_ 2x12= 9x12=_
0x12= 8x12= 1x12=
Mxi2=_ 9x12= 5x12=
12x12= 5x12= 10x12=
_ x12-108 L X12=72 _ x12=0

L X12=12 _ x12=120  X12=60
 X12=72 _ x12-8u _ x12-u8
_ X12=120 _ x12-108 _ x12-8u
_ X12=0 _ X12=14y  X12=12

_ x12=96  x12=24 _ x12-108
_ x12=14y  x12=96 _ X12=120
_ x12-8u _ x12-u8 _ X12=36
 x12=24 _ X12=60  X12=132
_ X12=60 _ X12=0 L X12=72
 X12=132 _ X12=36  X12=96
_ X12=36  X12=12 2=
_ x12-u8  X12=132 X121y




T

12 times table (A)
0x12= o 3x12° 26 7x12+ gy
1x12= 49 Mx12= ja2 Mx12= 422
2x12= gy 0x12+ o 3x12- 26
3x12+ 2 7x12+ qu 2x12+ o4
Ux12= pe 10x12= 120 8x12= ap
5x12 go 1x12= o Ux12+ we
6x12+ 72 Ux12- yg 6x12+ 92
7x12+ _gu 6x12= g2 0x12- o
8x12= _q6 12x12= juy 12x12 = ndy
Ix12+ 1608 2x12% a4 9x12° 10%.
10x12* j90 8x12= qp 1x12= 42
Mx12= 132 9x12= 108 5x12- 60
12x12% iy 5x12+ o 10x12* {20
_q x12=108 _6_x12=72 0 x12=0
L x12=12 o x12=120 £ x12:60
o x12:72 4 x12-84 g x12-u8
o x12=120 _q  x12-108 9 x12-84
o x12:0 2. x12=1u4y L x12=12
_ 8 x12=96 2 x12=24 J_x12=108
_12 x12=144 8  x12=96 10 x12=120
=1 x12=84 Y x12=U8 3 x12=36
2 x12=24 g x12:60 L x12=132
g x12:60 o x12:0 o x12:72
1 x12=132 2 x12=36 % x12=96
=z x12=36 L x12=12 2 x12=24
- x12=48 1 x12=132 12 x12=144
‘




